
Cloze Test Sets for Bank Exams

Cloze Test - Set 1 (Moderate Level)

Direction: In the following passage, there are blanks, each of which has a number. Below the

passage, five words are suggested for each blank. Choose the most appropriate word for each

blank.

India's banking sector has undergone a significant transformation in recent years. With the adoption

of digital technology and customer-centric innovations, banks are now focusing more on (1)

_______ services. Mobile banking, internet banking, and Unified Payments Interface (UPI) have

made financial transactions quicker and more (2) _______.

However, this shift also brings challenges such as cybersecurity threats and digital illiteracy among

some sections of the population. To tackle these issues, banks need to invest in (3) _______

security systems and conduct awareness programs to educate customers about safe digital

practices.

Moreover, financial inclusion remains a key objective. The government's initiatives like the Pradhan

Mantri Jan Dhan Yojana (PMJDY) have helped bring millions into the (4) _______ banking system.

Yet, the real challenge is to ensure that these accounts remain active and are used regularly.

Going forward, banks must focus not only on technological upgrades but also on strengthening

customer trust and financial literacy. Only then can the banking sector truly become a (5) _______

for inclusive economic growth.

Options:



(1) A. traditional  B. convenient  C. personalized  D. manual  E. outdated

(2) A. complex  B. efficient  C. risky  D. expensive  E. limited

(3) A. temporary  B. customized  C. high-tech  D. transparent  E. common

(4) A. formal  B. private  C. invisible  D. rural  E. illegal

(5) A. barrier  B. burden  C. support  D. catalyst  E. substitute

Answer Key: (1) C, (2) B, (3) C, (4) A, (5) D

Cloze Test - Set 2 (Easy Level)

Direction: In the following passage, there are blanks, each numbered. Below the passage, five

options are suggested for each blank. Choose the word that best fits in the context of the passage.

The Reserve Bank of India (RBI) is the central bank of the country and plays a crucial role in the

Indian economy. It is responsible for (1) _______ the monetary policy and ensuring price stability in

the country. One of the main functions of RBI is to regulate the supply of (2) _______ in the

economy.

The RBI also acts as a (3) _______ to the Government of India and to commercial banks. It helps in

maintaining financial stability by regulating banks and other financial institutions. Additionally, it

issues currency notes and ensures the (4) _______ of the Indian currency.

With the rise of digital payments, RBI has introduced various guidelines to protect consumers and

promote a safe (5) _______ environment.

Options:

(1) A. implementing  B. destroying  C. ignoring  D. postponing  E. rejecting

(2) A. gold  B. currency  C. petrol  D. exports  E. stocks



(3) A. borrower  B. competitor  C. banker  D. trader  E. investor

(4) A. ban  B. demand  C. destruction  D. credibility  E. interest

(5) A. political  B. cashless  C. traditional  D. risky  E. manual

Answer Key: (1) A, (2) B, (3) C, (4) D, (5) B

Cloze Test - Set 3 (Advanced Level)

Direction: In the passage given below, there are blanks, each with a number. For each blank, five

words are suggested. Choose the word that best fits the meaning of the sentence as a whole.

In a rapidly evolving financial ecosystem, the role of commercial banks is not just confined to

accepting deposits and extending loans. Today, banks are expected to function as financial

advisors, risk managers, and digital enablers. With the entry of fintech firms and neo-banks,

traditional banks are under increasing pressure to (1) _______ their services and adopt more agile

operating models.

One of the key strategies to maintain competitiveness is (2) _______ customer engagement through

personalized offerings and digital convenience. Data analytics and artificial intelligence are being

extensively used to (3) _______ customer behavior and design need-based products.

However, while the digital shift has enhanced operational efficiency, it has also made the banking

sector more vulnerable to (4) _______ risks. Therefore, a strong regulatory framework and

continuous investments in cybersecurity infrastructure have become crucial.

Going forward, the success of the banking industry will largely depend on how well it can (5)

_______ innovation with regulation, growth with inclusivity, and profitability with sustainability.



Options:

(1) A. complicate  B. diversify  C. ignore  D. reject  E. abandon

(2) A. reducing  B. avoiding  C. enhancing  D. disturbing  E. delaying

(3) A. forecast  B. challenge  C. confuse  D. eliminate  E. distract

(4) A. weather  B. operational  C. cyber  D. agricultural  E. technical

(5) A. isolate  B. balance  C. fight  D. hide  E. transfer

Answer Key: (1) B, (2) C, (3) A, (4) C, (5) B


